

Contents lists available at FOMJ

## Fuzzy Optimization and Modelling

Journal homepage: http://fomj.qaemshahr.iau.ir/



#### Paper Type: Research Paper

# The Stability of Generalized Jordan Derivations Associated with Hochschild 2-Cocycles of Triangular Algebras

## RohollahBakhshandeh-Chamazkoti<sup>a,\*</sup>, Isa Bakhshandeh-Chamazkoti<sup>b</sup>

<sup>a</sup> Faculty of Basic Sciences, Babol Noshirvani University of Technology, Babol, Iran.

<sup>b</sup> Graduate Student in MSc, Department of Mathematics, Iran University of Science and Technology, Iran.

<sup>b</sup> Education Department, Qaemshahr, Mazandaran, Iran.

#### ARTICLE INFO

Article history: Received 23 February 2022 Revised 16 March 2022 Accepted 01 May 2022 Available online 01 May 2022

*Keywords:* Generalized Jordan Derivations Jensen-type Stability

### 1. Introduction

In [9] Nakajima introduced a new type of generalized derivation. Let  $\mathcal{A}$  be an algebra and  $\mathcal{M}$  be an  $\mathcal{A}$ -bimodule. Let  $\alpha: \mathcal{A} \times \mathcal{A} \to \mathcal{M}$  be a bilinear (biadditive) mapping.  $\alpha$  is called a Hochschild 2-cocycle if

 $x\alpha(y,z) - \alpha(xy,z) + \alpha(x,yz) - \alpha(x,y)z = 0.$ (1)

A linear (additive) mapping  $\delta: \mathcal{A} \to \mathcal{M}$  is called a linear (additive) generalized derivation if there is a 2-cocycle  $\alpha$  such that

$$\delta(xy) = \delta(x)y + x\delta(y) + \alpha(x,y)$$
<sup>(2)</sup>

and  $\delta$  is called a linear(additive) generalized Jordan derivation if

$$\delta(x^2) = \delta(x)x + x\delta(x) + \alpha(x, x) \tag{3}$$

#### ABSTRACT

In present paper, the stability of generalized Jordan derivations associated with Hochschild 2-cocycles of triangular algebras for the generalized Jensen-type functional equation investigated. In fact, the main purpose of present paper is to prove the generalized Hyers-Ulam-Rassias stability of generalized Jordan derivation between algebra  $\mathcal{A}$  and an  $\mathcal{A}$ -bimodule  $\mathcal{M}$ .

<sup>\*</sup> Correspondig author

E-mail address:r\_bakhshandeh@nit.ac.ir (Rohollah Bakhshandeh-Chamazkoti)

DOI: 10.30495/fomj.2021.1938179.1033

The stability of functional equations was first introduced by S. M. Ulam [13] in 1940. He posed the stability of group homomorphisms: Given a group  $G_1$ , a metric group  $(G_2, d)$  and a positive number  $\varepsilon$ , does there exist a  $\delta > 0$  such that if a function  $f: G_1 \to G_2$  satisfies the inequality  $d(f(xy), f(x)f(y)) < \delta$  for all  $x, y \in G_1$  then there exists a homomorphism  $T: G_1 \to G_2$  such that  $d(f(x), T(x)) < \varepsilon$  for all  $x \in G_1$ . If this problem has a solution, we say that the homomorphisms from  $G_1$  to  $G_2$  are stable or the functional equation f(xy) = f(x)f(y) is stable.

In 1941, Hyers [6] gave a partial solution of Ulam's problem in the context of Banach spaces as the following: Suppose that X, Y are Banach spaces and  $f: X \to Y$  satisfies the following condition: there is  $\varepsilon > 0$  such that  $|| f(x + y) - f(x) - f(y) || < \varepsilon$  for all  $x, y \in X$ . Then there is an additive mapping  $T: X \to Y$  such that  $|| f(x) - T(x) || < \varepsilon$  for all  $x \in X$ .

Let X and Y be Banach spaces with norms  $\|.\|$  and  $\|.\|$ , respectively. Consider  $f: X \to Y$  to be a mapping such that f(tx) is continuous in  $t \in R$  for each fixed  $x \in X$ . Assume that there exist constants  $\theta \ge 0$  and  $p \in [0, \infty) \setminus \{1\}$  such that

$$\| f(x+y) - f(x) - f(y) \| < \theta(\| x \|^p + \| y \|^p),$$

for all  $x, y \in X$ . It was shown by Rassias [12] for  $p \in [0,1)$  and Gajda [4] for p > 1 that there exists a unique *R*-linear mapping  $T: X \to X$  such that

$$|| f(x) - T(x) || \le \frac{2\theta}{|2 - 2^p|} || x ||^p$$

for all  $x \in X$ .

In 1992, a generalization of Rassias' theorem was obtained by Găvruta [5].

Jun and Lee [7] proved the following: Let *X* and *Y* be Banach spaces. Denote by  $\varphi: X \setminus \{0\} \times X \setminus \{0\} \rightarrow [0, \infty)$  a function such that

$$\tilde{\varphi}(x,y) = \sum_{n=0}^{\infty} 3^{-n} \varphi(3^n x, 3^n y) < \infty$$

for all  $x, y \in X \setminus \{0\}$ .

Suppose that  $f: X \rightarrow Y$  is a mapping satisfying

$$2f(\frac{x+y}{2}) = f(x) + f(y)$$

for all  $x, y \in X \setminus \{0\}$ .

Then there exists a unique additive mapping  $T: X \rightarrow Y$  such that

$$\| f(x) - f(0) - T(x) \| \le \frac{1}{3} (\tilde{\varphi}(x, -x) - \tilde{\varphi}(x, -3x)),$$

for all  $x \in X \setminus \{0\}$ .

There are many interesting papers to consider the stability of any structures [1,2,3,4,8,10,11]. The main purpose of this paper is establishing the stability of a generalized Jordan derivations associated with Hochschild 2-cocycles of triangular algebras for the generalized Jensen-type functional equation

$$rf(\frac{x+y}{r}) = f(x) + f(y),\tag{4}$$

#### 2. Main results

**Theorem 1.**Let s > 1, and let  $f: \mathcal{A} \to \mathcal{M}$  be a mapping satisfying f(sa) = sf(a) for all  $a \in \mathcal{A}$ . Let there exist a function  $\varphi: \mathcal{A} \times \mathcal{A} \times \mathcal{A} \to [0, \infty)$  such that  $\lim_{n \to \infty} \frac{\varphi(t^n a, t^n b, t^n c)}{t^n} = 0$ , and a Hochschild 2-cocycle  $\alpha$  such that

$$\| r\lambda f\left(\frac{a+b}{r}\right) - f(\lambda a) - f(\lambda b) + f(c^2) - f(c)c - cf(c) - \alpha(c,c) \| \le \varphi(a,b,c),$$
<sup>(5)</sup>

for all  $\lambda \in T^1 = \{z \in C : \| z \| = 1\}$  and all  $a, b, c \in \mathcal{A}$ . Then f is a generalized Jordan derivation.

**Proof.** Clearly f(0) = 0 because f(0) = sf(0). Putting a = b = 0 in (5), we have

$$\| f(c^{2}) - f(c)c - cf(c) - \alpha(c,c) \| = \frac{1}{t^{2n}} \| f(t^{2n}c^{2}) - f(t^{n}c)t^{n}c - t^{n}xf(t^{n}c) - \alpha(t^{n}c,t^{n}c) \| \le \frac{\varphi(0,0,t^{2n}c)}{t^{2n}},$$
(6)

for all  $c \in \mathcal{A}$ . Since  $\frac{\varphi(0,0,t^{2n}c)}{t^n} \to 0$  as  $n \to \infty$ , therefore (6) leads to

$$f(c^{2}) = f(c)c + cf(c) + \alpha(c, c),$$
(7)

for all  $c \in \mathcal{A}$ . Now let c = 0 in (5), then

$$\| r\lambda f\left(\frac{a+b}{r}\right) - f(\lambda a) - f(\lambda b) \| = t^n \| r\lambda f\left(\frac{t^n a + t^n b}{r}\right) - f(\lambda t^n a) - f(\lambda t^n b)) \|$$

$$\leq \frac{\varphi(t^n a, t^n b, 0)}{t^n},$$

for all  $a, b \in \mathcal{A}$ . Since  $\frac{\varphi(t^n a, t^n b, 0)}{t^n} \to 0$  as  $n \to \infty$ , we obtain

$$r\lambda f\left(\frac{a+b}{r}\right) = f(\lambda a) + f(\lambda b),\tag{8}$$

which substituting  $\lambda = 1$  we have

(~)

$$rf\left(\frac{a+b}{r}\right) = f(a) + f(b),\tag{9}$$

for all  $a, b \in \mathcal{A}$ . Thus the mapping f satisfies in (4).

It is not difficult to prove that f is additive. Clearly f is additive and R-linear. By putting b = 0 in (9) we obtain

$$rf\left(\frac{a}{r}\right) = f(a),\tag{10}$$

for all  $a \in A$ . Now substituting b = 0 in (8) and using (10) formula we find

 $f(\lambda a) = \lambda f(a),\tag{11}$ 

for all  $a \in \mathcal{A}$  and  $\lambda \in T^1$ . Hence f is C-linear.

**Theorem 2.**Suppose r > 1, and  $g: \mathcal{A} \to \mathcal{M}$  be a mapping with g(0) = 0 for which there exists a function  $\varphi: \mathcal{A} \times \mathcal{A} \to [0, \infty)$  such that

$$\Phi(a,b,c) = \sum_{n=0}^{\infty} \frac{\varphi(t^n a, t^n b, t^n c)}{t^n} < \infty$$
(12)

$$\| r\lambda g\left(\frac{a+b}{r}\right) - g(\lambda a) - g(\lambda b) + g(c^2) - g(c)c - cg(c) - \alpha(c,c) \| \le \Phi(a,b,c),$$
(13)

for all  $\lambda \in T^1$  and all  $a, b, c \in \mathcal{A}$ .

Then there exists a unique generalized Jordan derivation  $f: \mathcal{A} \to \mathcal{M}$  such that

$$|| g(a) - f(a) || \le \Phi(a, 0, 0), \tag{14}$$

for all  $a \in \mathcal{A}$ .

**Proof.** Putting  $\lambda = 1$  and b = c = 0 in (13) leads to

$$\| g(a) - \frac{g(a)}{r} \| \le \frac{\Phi(ra, 0, 0)}{r}, \tag{15}$$

Therefore by induction on n, we obtain

$$\| g(a) - g(a)r^n \| \le \sum_{k=1}^n \frac{\Phi(r^k a, 0, 0)}{r^k},$$
(16)

for all  $a \in \mathcal{A}$ .

Now we replace a by  $r^m a$  in (16), hence we find

$$\| g(a) - \frac{g(r^{n+m}a)}{r^{n+m}} \| \le \frac{1}{r^m} \sum_{k=m}^{n+m} \Phi(r^k a, 0, 0), \ \forall a \in \mathcal{A}.$$
(17)

Thus  $\left\{\frac{g(r^n a)}{r^n}\right\}_{n=1}^{\infty}$  is a Cauchy sequence. Put

$$f(x) = \lim_{n \to \infty} \frac{g(r^n x)}{r^n}.$$
(18)

Since  $\mathcal{A}$  is complete, f(x) in (18) exists for all  $x \in \mathcal{A}$ . It is easy to obtain the (14) formula from (16). Now since

$$\| rf\left(\frac{a+b}{r}\right) - f(a) - f(b) \| = \lim_{n \to \infty} \frac{1}{r^n} \| rg(r^{n-1}(a+b)) - g(r^n a) - g(r^n b) \|$$
  
$$\leq \lim_{n \to \infty} \frac{1}{r^n} \varphi(r^n a, r^n b, 0) = 0$$

for all  $a, b \in \mathcal{A}$  thus we have

$$rf\left(\frac{a+b}{r}\right) = f(a) + f(b)$$

for all  $a, b \in \mathcal{A}$ .

Hence, *f* is a Jensen type function. For  $\alpha \in T^1$  we have

$$\| \alpha f(a) - f(\alpha a) \| = \lim_{n \to \infty} \frac{1}{r^n} \| \alpha g(r^n a) - g(\alpha r^n a) \| \le \lim_{n \to \infty} \frac{1}{r^n} \varphi(r^n a, r^n a, 0) = 0$$
  
Then  $f(\alpha a) = \alpha f(a)$  for  $\alpha \in T^1$  therefore  $f$  is  $C$ -linear. Also

$$\| g(c^{2}) - g(c)c - cg(c) - \alpha(c,c) \| = \lim_{n \to \infty} \| \frac{1}{r^{2n}} g(r^{2n}c^{2}) - g(r^{n}c)r^{n}c - r^{n}cg(r^{n}c) - \frac{1}{r^{2n}} \alpha(r^{n}c,r^{n}c) \|$$
  
 
$$\leq \lim_{n \to \infty} \frac{1}{r^{2n}} \varphi(0,0,r^{n}c)$$

= 0, for all  $c \in \mathcal{A}$ .

Thus f is a unique generalized Jordan derivation satisfied (14).  $\Box$ 

**Theorem 3.**Let  $g: \mathcal{A} \to \mathcal{M}$  is a mapping with g(0) = 0 for which there exist constants  $\theta \ge 0$  and  $p \in (0,1)$  such that

$$\| r\lambda g\left(\frac{a+b}{r}\right) - g(\lambda a) - g(\lambda b) + g(c^2) - g(c)c - cg(c) - \alpha(c,c) \| \le \lambda (\| a \|^p + \| b \|^p + \| c \|^p),$$
(19)

for all  $\theta \in T^1$  and all  $a, b, c \in \mathcal{A}$ .

Then there exists a unique generalized Jordan derivation  $f: \mathcal{A} \to \mathcal{M}$  such that

$$\| f(a) - g(a) \| \le \frac{\theta}{1 - r^{p-1}} \| a \|^p.$$
<sup>(20)</sup>

for all  $a \in \mathcal{A}$ .

**Proof.** It is easy to prove by defining the function  $\varphi: \mathcal{A} \times \mathcal{A} \times \mathcal{A} \longrightarrow R$  by

$$(a,b,c) \mapsto \theta(\parallel a \parallel^p + \parallel b \parallel^p + \parallel c \parallel^p)$$

Now, applying Theorem 2, one can find (20) inequality. $\Box$ 

**Conflict of interest:** The authors declare that they have no known competing financial interests or personal relationships that could have appeared to influence the work reported in this paper.

#### References

- Baak, C., & Moslehian, M. S. (2005). On the stability of J\*-homomorphisms. Nonlinear Analysis: Theory, Methods & Applications, 63(1), 42-48.
- Bakhshandeh-Chamazkoti, R., & Nadjafikhah, M. (2016). The stability of a connection on Hermitian vector bundles over a Riemannian manifold. Asian-European Journal of Mathematics, 9(01), 1650001.
- Gordji, M. E., Ghaemi, M. B., Gharetapeh, S. K., Shams, S., & Ebadian, A. (2010). On the stability of J\*-derivations. *Journal of Geometry and Physics*, 60(3), 454-459.
- 4. Gajda, Z. (1991). On stability of additive mappings. International Journal of Mathematics and Mathematical Sciences, 14(3), 431-434.
- Gavruta, P. (1994). A generalization of the Hyers-Ulam-Rassias stability of approximately additive mappings. Journal of Mathematical Analysis and Applications, 184(3), 431-436.
- 6. Hyers, D. H. (1941). On the stability of the linear functional equation. Proceedings of the National Academy of Sciences, 27(4), 222-224.
- Lee, Y. H., & Jun, K. W. (1999). A generalization of the Hyers–Ulam–Rassias stability of Jensen's equation. Journal of Mathematical Analysis and Applications, 238(1), 305-315.
- Keshavarz, V., Jahedi, S., & Gordji, M. E. (2021). Ulam-Hyers stability of C\*-Ternary 3-Jordan derivations. Southeast Asian Bulletin of Mathematics, 45(1).
- Nakajima, A. (2006). Note on generalized Jordan derivations associate with Hochschild 2-cocycles of rings. Turkish Journal of Mathematics, 30(4), 403-411.
- 10. Park, C. (2007). Isomorphisms between C\*-ternary algebras. Journal of mathematical analysis and applications, 327(1), 101-115.
- 11. Park, C., & Yun, S. (2017). Stability of C\*-Ternary quadratic 3-Jordan homomorphisms. The Pure and Applied Mathematics, 24(3), 171-178.
- 12. Rassias, T. M. (1978). On the stability of the linear mapping in Banach spaces. *Proceedings of the American mathematical society*, 72(2), 297-300.
- 13. Ulam, S. M. Problems in Modern Mathematics, science ed., Wiley, NewYork, 1964.



Bakhshandeh, R., Bakhshandeh, I. (2022). The stability of generalized Jordan derivations associated with Hochschild 2-cocycles of triangularalgebras. *Fuzzy Optimization and Modeling Journal*, 3(2), 46-51.

https://doi.org/10.30495/fomj.2022.1953414.1064

Received:23 February 2022

Revised:16 March 2022

Accepted:01 May 2022



Licensee Fuzzy Optimization and Modelling Journal. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (http://creativecommons.org/licenses/by/4.0).